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INFORMATICS 

OXE-022 : PLANNING AND MANAGEMENT OF 
TELECENTRE 

Time : 3 hours 	 Maximum Marks : 100 

Note : 
	

(i) Attempt all section A, B, and C as per the 
direction given in each section. 

(ii) Marks are indicated against each section. 
(iii) Answers should be brief and to the point. 

SECTION - A 

(Choose the best answer.) 

(i) Answer all questions. 	 10x2=20 

(ii) Each question carries 2 marks. 

1. 	Where was the first telecentre set up in India ? 

(a) Puducherry 

(b) Karnataka 

(c) Bihar 

(d) Maharashtra 
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2. 	Which is not an ideal location for telecentre ? 
(a) Car Park 
(b) Railway Station 
(c) Bus Stop 
(d) Market Place 

	

3. 	Which of the following is not a computer 
hardware ? 
(a) Scanner 
(b) Printer 
(c) Central Processing Unit (CPU) 
(d) Microsoft office 

	

4. 	Is it necessary to check that the road, electricity, 
water and telephone lives are available at your 
telecentre ? 
(a) No 
(b) Yes 
(c) Don't know .  

	

5. 	Which of the following is the secondary 
Stakeholder ? 
(a) Internet groups 
(b) Students 
(c) Farmer 
(d) Women 

	

6. 	Which Indian company is setting up telecentres 
under the corporate sourcing model ? 
(a) ITC 
(b) Dabur 
(c) Reliance 
(d) Godrej 
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7. 	Which among the following is not a capital 
expense ? 
(a) Security Deposits 
(b) Furniture 
(c) Salaries 
(d) Equipments 

	

8. 	Which of the following is not a critical component 
of community development ? 
(a) Making plan 
(b) Building support 
(c) Conducting election 
(d) Maintaining momentum 

	

9. 	In India telecentres are known as 	 
(a) Nenasalas 
(b) Community e-Centres 
(c) Village Resource Centres 
(d) IT Clubs 

10. Which of the following is not a technology to 
connect to the Internet ? 
(a) VSAT 
(b) Wi-Fi 
(c) Broadband 
(d) Vodaf one 

SECTION - B 
(Short Answer) 

Attempt any five questions choosing at least 
two questions from Part - I and II. 	5x6=30 
Each question carries 6 marks. 

PART - I 

11. List five different types of telecentres. 

12. Briefly describe Indian telecentre movement. 

(i) 

(ii) 
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13. How would you manage equipment break down 
in a telecentre ? 

14. What are the five economic lifelines in a rural 
community ? 

PART - II 
15. What are the basic functions of management ? 

16. What are the measures that can be adopted for 
telecentre sustainability ? 

17. Define planning and its importance in telecentre. 

18. Explain briefly the human resources necessary for 
a telecentre. 

SECTION - C 
(Essays) 

Answer two questions. Each question carries 
25 marks. 	 2x25=50 

19. Briefly describe the steps involved in setting up a 
telecentre. 

20. How will you effectively manage the space of your 
telecentre ? Explain with the help of diagram. 

21. Define telecentre networking and explain the 
various advantages of telecentre networking. 

22. Prepare a business plan for setting up a telecentre 
in your locality and indicate how each step 
contributes to achievement of your objectives. 
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